A OBATRUL (1 TAREREDO A by 7 =3P A b (EFL - HERR) F)

(BN .m0 M)

R4 R5 R6 R7
S\ 2
ﬁa{;’fﬁ 49. 930 99. 861
St 1] B A
VAN 0 0
(b)
éjﬁ)ﬁ) 49. 930 99. 861
BITARJE 7> B Ol %HE 0 0
(d)
i%‘f & 49. 930 99. 861
A R . 0
(f)
I B AR HEEE 0 0
(g)
NiEEE
(h=c+d—e-T) 0 0
KRB+ R TR 0 0

(h=(g+h) / (c+d))

RSA M+ A 100 %
B2 TWAHEAEZF DR




(BN .m0 M)

R4 R5 R6 R7
S\ 2
ﬁa{;’fﬁ 0.325 0. 200
St 1] B A
VAN 0 0
(b)
éjﬁ)ﬁ) 0. 325 0. 200
BITARJE 7> B Ol %HE 0 0
(d)
i%‘f & 0. 325 0. 058
EE] BTN
*E%"Af"@%ﬁ‘ 0 0. 142
A EIRQRT Tl
NiEEE
(h=c+d—e-T) 0 0
KRB+ R TR 0 0

(h=(g+h) / (c+d))

RSA M+ A 100 %
B2 TWAHEAEZF DR




